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FIRE INSURANCE CLAIMS
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Answer EIGHT questions only. Question ONE carries 16 marks but this is not -
compulsory. All other questions carry 12 marks each.
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I.  Work out the loss amount on independent liability basis given the following 16
details :-

Policy ‘A" : Covers stocks only for Rs. 1,00,000

Policy B'  : Covers Machinery and Stocks Rs. 2,00,000

Value of stocks is Rs. 1,00,000 - Value of Machinery Rs. 2,00,000
Loss on stocks Rs. 75,000 - Loss on Machinery Rs. 1,00,000
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2. Write short notes on :- 4 each
a) Warranties
‘b) . Non Standard Claims
- .c) Ex-gratia settlements.
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State the salient provisions of a Fire Declaration Policy. ‘ 12
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What steps will you take on receipt of intimation of a claim under a Fire 12
Policy ?
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Which are the items required to be incorporated in the final Survey Report 12
assessing the ioss ?
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Enumerate the various 'add on’ perils available under a Fire Policy . 12
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Explain the term Fire damage with reference to a Fire insurance policy. 12
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Under a fire policy, Sum Insured for stocks is Rs. 9,00,000. Actual value 6 each
of stecks as on date of loss was Rs. 12,00,000. Calculate the amount of
claim payable if :
a) Itisatotal loss
b} It is a partial loss and loss is Rs. 6,00,000. Excess applicable is
Rs. 10,000 for each and every loss .
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Define 'Proximate Cause’ . Explain how the doctrine of proximate cause is 12

useful in settlement of fire claims .
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What is the cover provided under 'Rent for alternate accomodation 6 each
clause’?
How is it different from "Loss of Rent’ Clause ?




